
4

86 - 2 =
45 - 2 =
69 - 2 =
28 - 2 =
53 -- 2 =
24 - 2 =
97 - 2 =
LOO - 2 «

)90.

iOO to 80.

> 85.

19 to 1.

:-2-2.

-2+ 1.

4

23-3 =
94-3 =
35 - 3 =
49 - 3 =
77 - 3 =
56 - 3 =
88 - 3 =
20 - 3 =

to 49 ; from

tn 49 to 19;

-2-1-3.
-3+ 2-1.

+ 1+0-3.

DIGITS AND DECADES. 11

6 + 4 =
56 + 4 =
17 + 4 =
37 + 4 =
28 + 4 =
48 + 4 =
9 + 4 =

69 + 4 =
79 + 4 =

a
94 + =
44 + 4=.
54 + 3 =
74 + 4 =
14 + 3 =
14 + 1 =
74 + 7 =
94 + 6 =
04 + 9 =

8

30 - 4 -

41 - 4 «
69 -4 =
65 - 4 =

100 - 4 =
32-4 =
26-4 =
13 - 4 =
24-4 =

4
18-4 =
98 -4 =
17-4 =
20 - 4 =
93 - 4 =
23 - 4 =
81 -4 =
11-4 =
9-4 =

to o!; f
^'^

';f
.^''?? ^'""^ ^ ^^ ^2; from 1 to 33; from 2to 34 ; from ;j to 35.

6. Subtract hy form from 20 to 0; from 21 f-^ 1 •

from 22 to 2; from 23 to 3.

'
^ ^ ^*

7. 2 + 3 + 4 + 3 + 2 + 4. 9. 17-4-4-3-4-2
8. 50-3+4-2+ 3-4. 10. 100-4+3-4+}:!:

6 + 5 =
46 + 5 =
17 + 5 =
37 + 5 =
28 + 5 =
58 + 5 =
19 + 5 =
69 + 5 =
89 + 5 =

2

11 + 5 =
/o + ;> =
Jo + ;> =
12 + 5 =
92 + 5 =
84 + 5 =
98 + 5 =
15 + 5 =
75 + 5 =3

3

11 - 5 =
71 - 5 =
28 - 5 =
68 - 5 =
12 - 5 =
22 - 5 =
92 - 5 =
49 - 5 =
67 - 5 =

4

17 - 5 =
23 - 5 =
83 - 5 =
56 - 5 =
16 - 5 =
15 - 5 =
35-5 =
55 -5 =

100 - 5 =

to

6. Add hj fives from to 50 ; from 1 to 26 ; from 2
-^7

;
from 3 to 28 ; from 4 to 29.

-- 'J' VKJ X

.

e. Siilitiw!, hyfive.-, from r.O to 0: fm>„ 9« ..

7. 4+ :i+ 5 + 2+ 5 + 4. 8. 2;i-5-5r4-4-4n + .-4-;i + 2-l. 10. 72+5-4+ U-2-5:
8


